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The.figures in the margin indicote
full moirlcs for thre questions.

1.

Artswer o;ng Jiue

(a) How does
Knowledge
(r(DD)?

queshons out of seuett.

data mining differ from
Discovery in Databases

H Explain the architecture of a data
mining system with a suitable
schematic diagranf.. 10+ 10

Contd.



mlnlng. Explaln constratnt Uasefiffi

assoclatlon mlnlng.

(b) use the two methods below to normaltze

the followtng grouP of data :

200, 300, 400, 600, 1000

o mln:max nonnahtzatlon bY settlng

min=O and rrloX= I

o 2-score normalizatlon'

(c) what are the value-ranges of the

followtrrg normallzatlon methods ?

min- normalDatlon

2-score normallzatlon

normallzatton by declmal scallng'

6+8+6

3.@Wrtteandexplainpseudocodefor

2

aprtort algorlthm.
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h) Conslder a database, D, conslstJn$ I
transactlons. SuPPose mintmum

support count ls 2 (1.e. -suP =2/9

= 22o/o) and mlnimum confldence

requtred ls 7U/o.

TID Llst of ltems
Tloo I I, T2, I5
T100 T2,T4

T100 T2,I3
T100 I1, 12, T4

T100 II, 13

T100 T2,I3
T100 I1, I3
Tl00 I1, T2,I3, I5
T100 I1, T2,I3

Fired out frequent ltem set usin$ Apriorl

algorithm. Explatn each step with

diagranf.. 1O+10
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4. Draw decision tree
sets. IJse entropy
mechanism :

the following data
a node selectlon

20

for
AS

Outlook Temp (F) Humldtty I[lndy Class

Rainy Hot High False No

Rainy Hot High Tme No

Overcast Hot High False Yes

Sunny Mild High False Yes

Sunny Cool Normal False Yes

Sunny Cool Normal Tnte No

Overcast Cool Normal Tme Yes

Rainy Mild High False No

Rainy Cool Normal False Yes

Sunny Mild Normal False Yes

Rainy Mild Normal Trtre Yes

Overcast Mild High True Yes

Overcast Hot Normal False Yes

Sunny Mild High True No

5. (a) Differentiate between :

o Hierarchical us Partitionin$ clusterin$.
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Wrtte short notes on following

clustering methods :

I o Density based method

o Grid based method

o Model based method.

10+ 10

With a neat diagram explain the

architecture of data warehouse. Dqplain

the terms :

ROLAP, MOLAP, and HOLAP'

What are the differences between the

three main types of data warehouse

usage : information processing,

analytical processin$, artd data minin$'?

Discuss the motivation behind OLAP

mining (OIAIVI). 10+ 10

(a) Explain the k-means clustering

algorithm.

@

6. (a)

(b)

7.
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H Assume the followtng data set is glven
(2,21, (4, 4), (5, 5), (6, 6), (9, g), (0, 4),
(4,0). It wtll have k= 3 cluster and the
Manhattan distance ls used as the
distance functlon. The k-means initial
clusters Cl , C2, artd C3 are as follows:

Ct , {(2,2),(+,4), (0, 6) }

c2 
' t(0,4), (+, o), (r ,z)I

cs' t(b, b), (o, e), (o,s) ) '

Find the new cluster €rnd their centroid
after the fust lnteraction of k-means.

l0+ 10
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